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Which of the following intervals represents the solution set of the inequality inequality |z + 6| < 37

O A. (-9, —3)
O B. (-9,3)
0/C. (—3,3)
0O D. (-3.,9)
O E. (0,3)
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Which of the following intervals represents the solution set of the inequality |2z + 2| > 47

O A. (—o0,3]U[1,00)

O B. (00, —3] U [~1, 00)
C. [3,00)

O D. (—o0,—-3]U[1,00)
E. [1,00)
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What is the range of function f whose graph is shown below?

.lrur_.:.r.h.l Maoklra )l oA o 9 L.u...uﬁ.:
IRNBATES SCHOOLE ESTARLISHMINT

y= flx)

U

"
4
3
2
1

-6 =5,/~4 =3 =2 =l 1 2 3 4.9 6
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If f(x)=—2%—9and g(x) =z — 4, then (fog)(2) =?

z)

A. -17
B. -13
C. 26
D.

E.

13
17
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The graphs of f(x) and g(x) are given below. What is the va]é’c of (fog)O)?
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For what value of z does the function f(z) = —z* + 3z — 5 attain its maximum ?

0 ALD

1
B- 2_
N 2

O C.3

1
DD.IE

1
D Et ‘_1_"
2




-

’ o

st J el P slr i) o o B s
IRIRATES SCHOOLS ESTARLISHMINT e mn

Which of the following is the solution set to the logarithmic equation log,(x + 5) + logy(x — 1) = 27

I ok, =T
O B. {4}

o [ o8 L
0 D. {3}

0 E.{-3,7}
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1

r—3
If£ 27445 — ( §) . then z =7

21
£l A. ~1a

DB.-——3

14

I:lC.-E

10

21
D DI
24

DE.—E-

10
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For all z > 0 and y > 0, log;(z*\/y) =?

1
A. 4log-(x) + 5 log-(y)

1
B. 4log,(z) — > log(y)

C. log (z) + log (z) ~logy ( 3 ) ~ logs @)

b | =

) — logz ()

O D. logy(z) + log-(x) + log- (
O E. logy(x) + log,(x) — log, (

%) + log-(x)

em— s
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If f(z) = 222 — pz — 6 and f(2) = —14, then p =7

A. -8
B. 14
C.0
D. 8
E. 6
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. Which of the intevals below is the solution set of the inequality z° — Tz 4+12<0 ?

A. [3,4)
0 B. (3,4]
O C. (—o0,3]U [4,0)
0 D. (—00,3) U (4, %)
E. [3,4]
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2z — 5
Which of the intevals below is the solution set of the inequality I+ 30 >07?
T

O A. (—o0, =3|U [5/2, o)
B. (—o0, =3)U (5/2, c0)
C. (-0, —-3)U [5/2, o0)
O D. [5/2, oo)

E. (—00. —3)
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ALGEBRA

Points A(3, 4], B4, 3), 02, 1) aee s o3« AL, 4), (A, 3L, C12,1) i
Qraphed Deiow L L
w:uw:mmrmL il g BC o ang C' 5 I i) e
aNer S undergoes & Ranon Cenlered 02 s L A
point A with scake facior of 27

¥

N

"-
- - X
"

S, 008 Cl, =2

Fe. 2600, 0

em— s
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Imwlhﬂmn'fmmizd.-z}ﬂnﬁa ..3--"—"":']!".‘[4 _E]M;,Hu
dilation of 3
(7, 1)
&) z
(5:-3) ,
" (1, -5) {
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Points A(3, 4], 84, 3L, T2, 1) are e 5 a3+ A3, &), B4, 3), C12,1) Mk
ettt 208 el AL ol &uisls s ol
FREIRATES SCHOOLE ESTARLISHMINT 5 . R e —
m:'hmu'ﬂ'-ﬂf Joa B 203 3y €' 5 B hgflaa) ake
after 5 undergoes a didation contered ey
T2 i ldao A Ul
al point A with scale tacior of 27
y
.
A 3
-
- &= i
'
A a

Fis. 28N, -2)

B
6 1LEC0, =-1)
F5. 008 CLL, =2)
D

{5, 2) & C3,0
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FRORATES SCHOOLE ESTARLISHMINT By il
Use the graph below to answer the question S Dyd e Ltasl Sl JEID i)
that follows
4
B
(10, 10)
A
(2, 4)
0 X

Apoint C lies between point Aand B Ifthe  Jwaad S8 1) By A sl o C el o
ratio of the length of AC to the length of C8 is Gadl Al.31 ACBdsa JAC Jyb

3.1, what is the x-coordinate of point C? ¢C il y &y

Answer ada
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% Rectangie FGHJ is transiated § units nght el ciiay B Sde FGHU Jsstad 4ot ¥ o=
TMIRATES SCHOOLS ESTARLISHMINT - il
[
L]
(] & :
- & N l‘lr'l.l'l"'-.
L
&
g (™ :
|
v
Which statement about the side lengths of St P Dy g3
rectangie FGHJ is true? Can. FGHS

{ FG =9and GH = 6

| FG'=3andGH =5

FG=3landGH =6

FG'=9andGH =5




Figure A and Figure B have rotational Shal yas gl B B3 A B3I
m;.m HAML:::;::-WWHI Symmewy. -;‘:""1..5.!" ory il
Figure A Figure B
What 1s the smallest angle of rotation :. qﬂi-s"“ﬁlif;"lfjfﬁ';#fﬂ
neeged for Figure B 10 appear unmoved? o gl o B KD 5
What is the smallest angle of rotation ) e SIS 00y ) el dd e
needed for Figure A 10 appear unmoved? 3 gl oy A S0
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il mulrall AL o P s

S The triangles ABC and DEF are similar and dae pa gy el DEF ,ABC 224 -
their respective vertices are shown below A e

AABC: All, =2).81,08), C2. 1)
D DEF: Di4, -3),H4,2), Fis, 3)

Identity the scale factor of dilation from D ABC S e 33 dia Jidas ias s
triangie ASC to triangle DEF. ¢ DEF ciJd
| The scale factor is 1. 1 50 i) Jataa |
._ J
[mmmm. 4,_,‘-__;.3._:..;....]

. 4 N
| The scale factor is 0.5. 0.5 s i) Jiias |

['Tmmmuz. 2 o A s |
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IOBATy B SEESATECT TW ORSCTIORS & - e B e e B e
sgaencE of Farsiormatoes that el 3D 212D e
Farsdom fgure 1 mio Sgure 3

§ S 1 CE s s T e S i it VDR

o ioliowed Oy I ECon ECrT gl g il adly = Lol i

L S ¥~

I daid i dal 0 4
g A By 8 YIRS ) by T .

ar gt g, e

i T T ey

i e VAT CRCred 8wl The Sy ) o i el VRO 3
oo iniliowerd By & Faraue § i g il Sy b A
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The Bigure below shows the graph of Ax) 0D e v KD ma
function Ax)

it i mule il cA L 08 [
FREIRATES SCHOOLE ESTARLISHMINT

em— s

A second function gx) is defined by the Al 4 me g{x) 5 ) s
eguation gix) = -3x + 2 identify the true gix)==-3x+2
statement beow =t daaall sl e

| f-2)ts greater than g{(-2) gl=2) o~ = f-2)

fi-1) 15 less than g(-1) gl=1) = aa' f-1)

f1) &5 less than g(1) gl1) = aal 1)

A2) s greater than g(2) g(2) ~ = R2)
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On the gnid below, rectangle ABCD s rotated Ly D Sl g 2 il 4520 4
& L. T ¥ ¥ = g s j g
aiisha LD S 90 clockwise about the ongin 1o form el AL el ,hil:u-i!.,,lﬂﬂi
TMIRATES SCHOOLS ESTABLISHMENT wwz WM_M:‘_“ Wy <l
s
L'
z w
i %
0 L
D C
b L
v
Which statement about the relationship o ADall o daaalls fal s S e
between rectangle ABCD and WXYZ is true? fWXYZ = s ABCD el
DC = XY | BC=YZ
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o

#
ik
L ]
i
" A
!
J -
" |
- O
= B | ] 1 4 1 4 %
=1
-4
-3
L -
_5

Ellmmumm.nLhwu
wming only rotaons reflecions. and

ranslations VWhich sistemsm = rus?

Tha ransformation cannol be dones
! because figures L and M are in
| differant guadcrants

The ransfoarnation can be done with
a refiecthon followsd by @ rotation

The ransiormation cannol be done
bec suse figure L is not congruent 1o
figure

The v amsivimatimrm can ba dore with
# reflechon followed by 8 transistion

Stk plait o MBS LB L S e o
bl Wy e =l IRl o 2d g

l".._-‘_-_-;_.'_-: :;‘

gl .

ol el ol ) By i
Lh-h..t..j_n-a.,-,.

ML 2=

—_— -

s andy At an a4y ) S |

i LB T Ll o ) ey
H_L‘-:l-:.-,_u.-i—

e Amiy ,....'L...r_-._.._,"‘-.'-"d;_‘_ﬁ-ql
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208 FLAELL A0 s The images of tnangle ABC, tnangles A'8'C’ bl UG jpala AYB"C" 3 A'F'C’ LI g
and A" 8" C" are graphed below Sl Lagans 3 259 ABC
G




'

G Sncous tramisin | dentify which sequence of transformations o A ABC Jis A Adaid Sl Al sa =5
maps A ABC onto A A'8'C' and then maps & AABC 8L a5 AABC
NAA'EC'onto AA"B"C". * AA"B"C"
. H *
:nrat?ltlon lowed by another AT ) yp0 & e 93
" areflection followed by a transiation bty & pie odSas |

o~

iatranslatmnlol!owadbyamﬂacﬁm oSl & g ol |

 a reflection followed by a rotation 33 & yie Sl |




Conics s
m:.:fr‘s SCHOOL ::‘:;:,:-suul WY Wy il
Which equation represents a circle .t M s 28 . ;
whose center is (3, — 1) and whose Ua S sa 500 mada 5 A0 S Sadd )
4 a ey -
B 6yl iy (3, = 1)
A = =
(x-3F+(y+1°=6
B.

{w+3}1+[p’-1]2=5

(x=3P+(y+1)P=36

(x +3)F +(y-1F=36




Conics s

mi'\'.:fr"; HAML:::;:-GHWHI Wy il
Choose the correct classification for the AL ) SO maall il il
conic given below. ook Aslaad

2V + 12y < x #17=0

A [ parabola ,ss.c.u
B. |
Hyperbola 21 5 ke
 Circle 5 ils |

Ellipse oalls alb |




Conics
Rhombus STAR has vertices o STAR padl 83,
S(-1,2),T7(2, 3), A(3, 0), and R(0, = 1) RO, -1) 5 A(3,0) 5 T(2,3)55(-1,2)
What is the perimeter of Rhombus STAR? ¢ STAR adl mas 59 S

4410 V34

Wen ' V1o

em— s



ﬁ Conics

ﬁjmwdpﬂw

FRORATES SCHOOLE ESTARLISHMINT . — gy e
What are the coordinates of the center and s oMl Rl sl Jyhay K a Cidlal L
the length of the radius of the circle whose o s e
equation is shown below?

xZ eyt =8x-6y+39

|, center (4, -3) and radius 8 8 jaill haiy (4, —-3) K |
[cemeru. -3) and radius 64 64 =il Ciai, (4, -3) S 4 |
| center (-4, 3) and radius 8 B Jad by (-4,3) S |

|: center (-4, 3) and radius 64 64 sl sy (-4,3) K4 |




Conics
m;.m HAML:::;::-WWHI
Find an equation of the ellipse that has 80 g3 (2, —5) 2 5 e el adad
center (2, — 5), a minor axis of length 2, and , :
( | il o dadal oy aki 5 2 peal)
avertex at(10,-5) (10, -5)
-lal’hiiﬂ- ]1 3
Given the formula g s
R Y. R Y.
(x=hP | =k? _
a? bz
Find a2, b2, h, k aZ, b, h,k os JSpadaayg
o=

(h, k) =(( L_J)

em— s
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Conics
s il Mol Al 0 8 A il '
TMIRATES SCHOOLS ESTABLISHMENT Which of the MW is an asymptote of the C'-u __J_.;}i ba Aldas e \']: e e 4:'- ————

hyperbola below? t 3

o 1',:*_1
9 4

-

il
ra | w |
S

wir
=

F-

-

i
|

-

-

n
TJ S

-
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Polar Coordinates
m;.m HAML:::;::-WHIHI
Change the polar coordinate point shown o 2l dais o) Adaiill Audaall SlSlaaY) J3a
below to Cartesian coordinates. Ao sl Ly
n
10, — —
(10.- %)

(-10v2, -10y2) -' ‘ (5v2, -5v2)

(<5¢2, -5v2) | | (5¥3, -5)
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Polar Coordinates
sy nl mlell) A L o 8 s

TRIRATES SCHOOLE ESTARLISHMINT [ ——

Convert the complex number shown below to _4udaill 5 ) seall ) slial maa gl L€yl 22all (3
polar form.
V3 +i

2(cos530" +15in30°) | 2(cos60* + i sin60")

4(cos30" +15in30" | 4(cose0" + 1 5in60")
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Polar Coordinates s
el & r— -
m:.:fr‘s srhu-m-:-::;::ﬁumm Given 2 and W below, find -ﬁ sl S e wW 3 F 4 T ,1.%.. _-._,,Jl By il

Z=10(cos 45% + | Sin 45%)
W =5Slcos 15" +''5in 15%)

- L

i:'."‘ = 1 I

= 2(cos 30" + 1 5in 30 |

% =2(cos 45"+ 1 sin 45%) ‘

Z 1 A o f

1. E_E{ws 30" +isin 30" |
!

J"Il—-

=\~

r

(cos 45* +1sin 45") ‘
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Polar Coordinates
sy nl mlell) A L o 8 s
FRORATES SCHOOLE ESTARLISHMINT
Convert a complex number in polar form CTTV RPN JTURRIT [P SON R T I N
shown below to a compiex number in (@ +bi) Al 5yl & jo s2 )

standard form (a +bi)
[2(cos 15" +1s5ind5°)F

( 4+4i _"l

37 +373) -.l

4J2 +421 [

=i

3+ 3] |
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Polar Coordinates
Jaol el Ak ol doisls

TMIRATES SCHOOLS FSTABLISHMENT Find the m,ﬁfmw of the polar curve q_',_,__ﬂ il 4_1_‘_“,‘,, __;H-l-l:-l J_,_. __,Jﬂ v s b

n m
=7 25 = —iid
below at e ra -

r= 3 + Bsinlg)

"f 11
5V3

i

m‘

i
-
@l

5

.-
=
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Polar Coordinates s
m;.m HAML:::;::-WWHI Wy il
For the given polar equation shown below, Al AE As sl Al s
write an equivalent rectangular equation sl das gl Al
rcoso=11
ll1x=1
v=11
x=11

lly=1
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Polar Coordinates s
m:.:fr‘s SCHOOL ::‘:;:,:-suul WY Wy il
For the given polar equation shown below, otaall el 4o il Al ()
write an equivalent Cartesian equation. Sl eyl 4kl
r=cos@
" X2+ =x
" (x +yP=y
s 8
1 [x + ',r}z = X
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Polar Coordinates
?ﬁf&'ﬁ ﬂi-r:}m::':;:,:ﬂumm —

Convert the complex number shown below to  Asdalll 5 ; geall ) 2l maia gl S o) 22all J3a
polar form

2% 2i

4(cos30" +isin30%)

2v2(cos30" +isin30%)

242 (cos45" +i5in45")

4(cos45° +isin45")




rfb ‘ALGEBRA |

vectors
st jaal il Ll S ol A siushs

IRIBATES SCHOOLE ESTARLITHMINT [ —

The vectors {6, 4) and {8, k) are Hadate (8, k) 4 €6, 4)heaid
perpendicular

.k""--"l_'%_:!

Find k

K




rﬁh IALGEBRA |

vectors
g j2al el AL ol & aisfe

IRIRATES SCWOOLE ESTARLISHMINT [

Find the angle between the vectors {5, —4) $(5, —4) el iy JAd g
Bﬂd {_?r 3} -<_?i 3>
Round final answer to the nearest whole

degree mes e ol a4

Angie= ] * =ay)




]ALGEBRA I

vectors
GATES SROLS rTAR ISR Sa—
A car travels from point A to point B along a Al B Akl A il s jun d A
100 km north road, then 60 km east, then a3 sladu B0km & Sl sadt 100km
20 km south to arrive at its destination B e e d e sadi s 20km
point D D
What is the displacement of the car from D Akl ) A Uil e 8 e Aad 3} ke L

point A to point D?

Answer [ ] km AV
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s 308 ALCIL ALSl dvbe memﬁhnuﬂmnu PV A'F Aatiaall daladll
A'l4, - 2), §'(16, 14) and is the image daeill 3 gum Ay A'(4, ~2), B'(16, 14)
d'ﬁaﬂmamﬂ%mmm MJP%MMJ-.;A_B il
the origin. _J....H"I
What is the length of AB? *AB Jsh sl

. 7 =
40 |
B.
20
c &
10
D.
5
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The graphs for L1 and L2 are s LT3 Al a0 ol S ma
below.
classified?
.l.:l"
|
| 4 il
A I
Consistent independent e
B.
Inconsistent e e
G
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How are these figures related? Tolidd 3D o AD) L
.u_-.u_;.'l.ql moadr el ol i 8 w
TREATES SCHOOLES ESTARLISHMINT = [ ——
] .‘ 1
‘ 1
v} J
'." 1l
A
Refischon eSadi
I
B.
Rotaton T
c
Transiaton “al
D
Not related die B
E

Dilation el Wl
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A sl Sililoeial Alicalg A pmadl 7 3Laddl (e adiuid

IRRATES SCWOO0LE ESTARLISHMINT [ —

g i o
lim (sin?(x) + cos3(x))=7
=R
1
24

Does not exist s =
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Tﬁf&'ﬁuhm ;-:‘:;:: SHMENT
If cos (x) >0, csc (x) <0, in which A 33 icos (x)>0, csc(x)<0 JSW
quadrant does the terminal side of x g e al 4 Al ;.
e 198 Sheill ghid A0k o8
Quadrant Il S aa
. Quadrant | Jj"f’l Eﬂ
Quadrant Il S as ]

- o— o —

Quadrant IV ad o
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.,l,_.n.u_‘.'l.ql moadr el od fop s ﬁ._u.u.u#i
TRIIRATES SCHOOLS ESTARLITHMINT PES—

Convert lif" to degree measure (S ) Ao 4 A li%“ e
Answer ' raday)
x =3y 1
| x=3
| y=4
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IRRATES SCWOO0LE ESTARLISHMINT [P —

Find the reference angle for 330° 330° Ly 0 (Ba))) Laapd P o )

Answer S' CEEN |
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HJMJMMJHF w

ITREATES SCHOOLE ESTARLISHMINT . s—
What is period of the graph of the Tolal i 5,90 ala
function below?

F 4 3
-~ Jif3
A
iR
3
B.
an
LY
G. f !
2n
3
D.
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Find the foliowing limit. ol gl aa g
lim ((1-3}25in( : ]+4)
¥ -3 3-?:

The limit = | = 4




ITRIGONOM ETRY I

As shown in the diagram below, an island (/) (M) et D (1) 8 3 adl aki ol 21

is due north of a marina (M) A house (H)is e A 45w e (H) Jid
4 5 km due west of the marina  From the A SAT Ay p 8l A ol el e e
house, the island is located at an angle of gy

54" from the manna

5‘#
H 45m M

What is the distance from the island (/) to the (M) S fad g (1) 8 0 dl o Al o e
marina (M), to the nearest tenth of a gl a8yl e s o B dldal T
kilometer?

=l
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fm£A=35,b=3,and a =4, how 3 AimLA=35,b=3,a=4 S}
different es can be ; & 23kes W o g

;rrv tnangl | (PORPIY U H A8 L A

A/ _ )
one obtuse ftriangle, only Ayl e Laid 2a) y Sl

B > b

" | one right triangle, only Ay 8 b sal y SD

c. 3 : =t
two triangles Cfalia
| |

D. / :
no triangles can be constructed Sl gl el (S Y
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A circular arc has a measure of 6 cm and 1s LSy y sjeaaddl gl Jgloleds glo
intercepted by a central angle of 16° =0 816 wid
Find the radius r of the circle Sl s e
Round your answer to the nearest tenth Syis e m o B didal LB

Answer | A




‘TRIGONOMETRY I

Circie O with a radius of 9 is drawn below. 9 la i il Jyla O 8 Wl K30 6
The measure of central angle AOC Is 120°. 120° 55u AOC S gy i Lds

What is the area of the shaded sector? U egmd g e pld dalus s
=) =
ém ) ( S54m )

N %5




S Al g oA 5 sala

*9

https://uk.ixl.com/maths/year-10/domain-and-range-of-exponential-functions




